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Sums of the Series Involving“ cosech”

ooooogt
Noboru NAKANISHI 2

1.1 00O

Uobo0obodsin00000 cosUOOO0OO0O0OO0ODOOOODODOOODOOOODOOOOOOODOOOO
OcosecOsec0 0000000000 ODOO0O0DOOOOODOOODOOOOODOOODOOOOODOOOOOOO
OO000D0O0000sinh0D coshOOO0ODOOO0OO0ODOOOOO0ODODOOOOODOOOODODOOODOO
oooobooboooobooooog

0000000000 smh00D0ODOOOO0O0O0O0O0ODOOOODOOOOOO0O0OODOOO0O0O0O00O0
oboooooboooogon

o0

1 1
2 (2n — 1)sinh[(2n — 1)n] 8 log 2 (1.1.1)

n=1

013g0booboboboobooobooa

1— (143)mn
log H ¢ (1.1.2)

n=1

oboobooobOooooboobooobooboooboooOooboooboooOoboobooooooOooDn
gooobooboooobobooboooboooboo

0000000000000 0000000U0oU00o0o IO 1JU0pe9000D0O0UDOOOOOODOO
oood

SIS I T W R
ot 1nh x4t 222\ 2722 cosh(v2mz) — cos(v2mz)/ o
200002z —o0cc00000
oo
(=) n 1
—— 7 = — = 0.079577... 1.1.4
Z sinh(nw)  4m ( )

n=1
Jodobob0z=00000000000000

23 4,4 25 8,.8
COSh(ﬁT(fE)*COS(\/ﬁﬂ'SE):27T2I2(1+ g'z + f(f +) (1.1.5)
0oooooo
123 , ., 20 26\ ¢ ¢ 73 1374,
j Z el = — (1= ) 1.1.6
4m4[6!7T v +(10! (6!)2)7r o] 360( 260" " (1.L.6)
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iﬁ—i}—msm%:& (1.1.7)
n3sinh(nm) 360 o o

o) L 7
sinh(nr) 453600

|~

— 0.0865592... (1.1.8)

>
gooooood
000000000000 000000000 1000000000, =100000 1/sinhxw = 0.0865895...

0000000(1.1.1) 000000 (1/8)log2 = 0.08664339... 0 0 0O
000 [1]0 p.820

> n w2 — 2z
ngl sinh(nx) T 42 (z>0) (1.1.9)

00000000 00o0oDO0oU00U0U0D0r —o0o 0000000000 227*0000 —1/(22)00
oo0oooo0o0ooDbbo0o 140000000

1.2 0OOd4d

goboobogboobobobooboboobobooobobooboboobobooboboobo
gboboobobooboobobooooobooooboboooooono

0100000 20000000000000
1
dt
K(k)z/ , (1.2.1)
o V1-B)1-kB)

E(k) = /0 dt ,/%’“zf (1.2.2)

000000000 0000000SkKS10000K =v1-k2000000000000 K(k)=K0O
K()=K'OOUOUOOUOOUOK((k)O E(k) 00000000000 UO0O0 K'E(KW+KE(K)-KK' =7/2
ooooogooo

4000000000000C0COO00DOO0O0O0
Jou,7) = 1+22(71)”q"2 cos(2nmu),
n=1

H(u,7) =2 Z(—l)"q("Jr%)2 sin[(2n + 1)mu,
Y (1.2.3)
Pa(u, 7) =2 Z qnte)’ cos[(2n + 1)mul,

n=0

o0
I3(u, 7) =142 Z q" cos(2nmu).

n=1



00007 =iK'/KOg=¢"" = "K/KQQQ000000000000000000000
Jo(u, 7) = Qo H [1—2¢*" ! cos(2mu) + ¢*" 72,
n=1

91 (u, 7) = 2Qoq7 sin(mu) [1 — 2¢*" cos(2mu) + ¢*"],

3

Il
-

n

(1.2.4)
1+ 2¢°" cos(2mu) + q4"],

i3

Po(u, 7) = 2Qoq7 cos(mu)
1

3
Il

93(u, 7) = Qo H [1+2¢*" ! cos(2mu) + ¢ 2.
n=1

0000Q =]>,(1-¢*®)0000u=000000009,(0,7)=000000000000 900,003
0oooooo

Yo=1+ Z(_l)nqn2 — H(l _ q2n) H(l _ (]27171)27
n=1

D=2 "t =2 [T - [T+, (1.2.5)
n=0

3 = 1+22q"2 = H(1 — ¢ H(1+q2n—1)2
n=1

n=1 n=1

OO0O0o0o0O0 k000DOO0O0O0DOOO0O0ODOO

92 I T .o
k:@’ k/:@’ K:§193, (1.2.6)
gooooa
kK:gﬁ, MK:%W (1.2.7)
oood

ogo0ooo0ooooooooooooooooobooobooooon
1 9 (u/2K,7)

B = (/2R )
_ VE 99(u/2K,T)

cn(u, k) = T Jo(u2K,7) (1.2.8)
_ 793(u/2K,T)

dn(u, k) = \/l?m

snu 00 1000000(1.21)000000 10000000000000O000DDODOODOOOO 200
sn?u +cn?u=10dn%u+ k?sn2u = 100000000000000w=0000 v=KO0O0OOOOODO

sn0 =0, cn0=dn0=1; snK =1, K =0, dnK=F (1.2.9)
gooboooooon
—snu = cnu dnu, —cnu = —snu dnu, —dnu = —k?snu cnu (1.2.10)

du du du
oogooooo
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0000000000000 00000o0o00Uo00O0OO (1.1.1) 000000000000 00 (1.1.1) 0
O000000000000000I OU0OO0OO0 210 p72100000000000O000OOO

2 G Dysmb[2n - DK 8 g 0Bl — ) (1.3.1)

uboooboooogon kzl/ﬂ[ll][l K'=K0O0O0OO(l.1.)0Oooooooooooooooooooo
00000000o0o0o0oo00o0o0o0oo0ooO(11.]) 0000000000 U0D000D0oUooUL0OUo

[00]0 (1.31)0000000 S00000

> 1

§= 2 nsinh[n(K' /K )]
n=1,odd
e —n(K'/K)m
e
=2 > (1.3.2)

3

_ o—2n(K'/K)~w
n=1,odd (1 € (v )
oo

-9 Z io: efmn(K’/K)Tr

n=1,odd m=1,odd

SRS

000000000000000000000000000000000000mn=NDO00001/n=m/NO
NOOO (1000 NOOOOOOO0 Y, ymOe(N)D0000

- 1 N(K'/K)m
S=2 3 Lo(N)e N
N=1,0dd
- %aw)[(e-“//““)N ~ (e KM (133)
N=1
o —(K'/K)=
= Z o(N dx 2N 71
N=1

Y o(N)aN =3 1”_xxn (1.3.4)

goooobogooog

e (K'/K)m o

nxr-
S = d
/_e—(K’/K)rr v Z 1—2xn

n=1

o e (K'/K)m
= [ ~log(1 — xn)] (1.3.5)

—_e—(K'/K)=®

1 (_1)ne—(K//K)7rn
= log H 1 — o~ (K'/K)mn

boooboobooobooooboooboobooobooobOooooboobOooobOooboOoboooOooDbn
oboboobooboOnO0bOOO0OODOOOODOOOOOOOOOOODOOnODOO02m—-1000000000
oo

14+e (K'/K)m(2m—1) 1+q2m 1
= log H —RTR)n@m1) — 108 H 1_ g1 (1.3.6)




O000q=eX/X70000(1.25)0 (1.26) 000

0 (1 _ q2n—1)2 190
n=1
gooood
o0 1 2n—1
11 T J: 32"*1 =KV = (1= k278 (1.3.8)
n=1
o0o0o(13.1)0o00o
1
S =logh'~V/4* = 3 log(1 — k?) (1.3.9)

ooooo

1.4 0O0O0OO0OO0OOOO0OO0O0O0

0000000000000 00000O000000000000n [2]0 p.721-p.7230 00000000
000000000000 0000000000000000000000000000O0UO0O0O0O (1.3.1)
0000000000000000030

r=(K'/K)r00000000000000000O0000

I Gl
1= Z sinh[(n — 1)z] WK’

n=1 2

[e.e]

Ss=> m - %K[K — E(k)], (1.4.1)

oo

N 1k,
S6 = zz:l sinh(nz) WQKE(k) 72 K

Ss000 (1.1.9)00000000000080k=1/y2=K00000K=K'00000z=x000
O0E(K)=EK DODODODDDO00000O0D00000 2KE—K?=7x/200000(1.14)000000
000000000000000

o

- 1 22
S3 = Zoo cosh(nz +a) ;Kdn [?K/]’

o0

1 2
- - _ZK
53 Z cosh(nz) 7

n=—oo

= - (1.4.2)
. 1" _ 2¢/1 — _ g ,
51= ;oo cosh(nz) 7r K= 7rk K,
> 1 2k
Sy = —  _="'K.
2 n:z_:oo cosh[(n — %)x)] T

0000S00000000 [2J00 00000000 00000000 S,00000000 %000
oo0k2000000

Scosech 0 sech 00000 sinh0 cosh 00000000000 000DO00D0OOS, 00000000000



000000000000 00000 g=e*0000000000(L.27)0 (1.25)0000
1 2 (-1l kK > 19212
7S: 7:7:( (TL+2)>,
Pt > 1 g2n1 o T;q

1 X gz kK > 102\ 2
(S=Y = = ()
5= > s = (g

ot p o . (1.4.3)
1 " 1
— — ]_ — . n ( n ) ,
75— 1) ;Hq% o 4 n;q + ;q

0oooo04s.0 4s00000000000000

oo

Z (_1)n—1q2nm—n—m+% (144)

n=1m=1

DDDDDDDDDDDDDD(—D”:(—1)”2DDDDDDSg[IDD S, 000 ¢0000000O0OCCODO
ooooo

Ss0 Ss000000 EkODOUDOODDOUDOODOODDOUOOO

1(S +S6) = i L—kjl{?—lﬁ‘* (1.4.5)
g e ee) sinh(nz) w2 4 %7 o
n=1,odd
goOoOO
o'} nqn [e%s} aLy? 4
3 = (Zq< +2>) (1.4.6)
n=1,odd q n=0
oooo

0000O0(14.1)0 (142)00000000000000O00O0O0O0OOOO0OOOOOOOOOOOO
gboooobooooboooobooooboooobooboobobobooboobobooobbobDOobooDOoDbo
oooooo

00000000 (3]0 p911-p9120000000000000O000O0OOOOOOOOOOOOOO
2000000000000000

2 q" 2 (2n — D)7u
sn(u, k) = K [T sin AR
I = "2 (2n — D)7u
en(u, k) = K Z T cos 5 (1.4.7)
n=1
s 2T — q" nmu
dn(ch)—ﬁ—i—F e cos —-



v=0000w=KOOOO0OOOO(1.29)00000000000000O0O

© n 1 n—l LK
_ 2n I 9

— 1 q 27
—~ 1 2n 17 9n”

(1.4.8)

>

i "q” KK 1

or 4

(143) 0000000000000 00O0O0O0ODO 510808085, 000000000000000
000(1.210)000000000000000O0OO0OOO@1.29 0000

= (2n—1)q EK?2 1 4.
Z 2n = = %205
- n=t (1.4.9)
Z 2n — 1) % o k'k'IKQ o 1192192
1+q2n 1 T og2 T 4270
000000000000000000
i": 2n — 1 _ 2kK?
= sinh[(n — I(K'/K)n] w2’
(1.4.10)

— (- t@2n-1)  2kK'K?
Z cosh[(n — 2)(K'/K)x] =2

n=1

good
OO00000Db00000w=0000w=KO0O0OOOOOOOOOOOOOOOOOO0ODODbOO0O0O0

uboaogboobgbbooboaoboaboobobooan

2K . TU > q" . 9 MU
logsn(u, k) = log — + logsin — — 4 E sin
T n=1 TL( "

2K 1+¢m) 2K’
U q" . 9 NTU

1 k)=1 — —4 4.
og cn(u, k) = log cos 5K ; 20T (—rg™) sin” - (1.4.11)

2n—1

q in2 (2n —1)

logd k)=—
og dn(v, s Z (2n —1)(1 — @@n—D) ™ 2K

D000 w=KOOOODOu—KOOOOO

i": q" 1 | 2K
- log —,
n=1,odd Tl 1 + q 4 g
= 1. 26K

Y ol =—7log=—, (1.4.12)
n=1,odd

o0 qn

Z = ——logk’

_ 42n

n=1,odd (1 q ) 8

00000000000000000000O00O (1.31) 0000000000000 U 20000000
ooooog
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1.5 Uogoooogn

ubboobdbgqOO0ob0booboobobooobobooboobobooooobooboobooboonoog
gboboobOoboooobooooboobooooboooonoo

1) 5,0 8000
000(14.3)0 5,0 $,00000000000000000000

oo

—1)g™ St
Z f_q%nqﬂ = Z I q2n+1 = (Z q"(”“)) (1.5.1)

0000(144)0000000000000000O0O00OOOOOODOO0OOOOOOOOOOOOO

2 m o (q2)3m+2

- > n(n+1) \ 2
Z 1-— 4m+1 B Z 1— (q2)4m+3 — <Z(q2)%> (1.5.2)

m=0 m=0 n=0

gbobooboobooooboooooo

[00]0000000 ¢>00000000000

i i(q2)4mn+m+n _ i i(q2)4mn+3m+3n+2 (1_5.3)
m=0n=0 m=0n=0
0000000100 Xy pan(@NO00 200 —> X _obn(@V, (1.5.2)0000 Y Nv_gen(@)NOOO
0000000 NOOODayv—-byv=cy000000000O
0000 mOnO0000anyO N =4mn+m+n0000 (m,n)000000by0 N =4mn+3m+3n+20
000 (m,n)000000cy0 N =1im(m+1)+3n(n+1)0000 (mn)000000000000000
D0000000ay 0 4N+1= (4m+1)(4n+1)0000 (m,n)000000by 0 AN+1 = (4m+3)(4n+3)
0000 (mn)000000cy04AN+1=(m+n+1)>+(m—-n)?0000 (m,n) 000000000

OO0000O0000s30000 NOODO eydbyOey0DO0OO0OO0OOOOOOODODOOOODDOOO

N 01 2 3 4 5 6 7 8 9 10
ay 1 2 2 2 2 2 3 2 2 2 2
by 0 0O 1 0 0 2 0 0 2 0 0
ey 1 2 1 2 2 0 3 2 0 2 2
AN+1 1 5 3% 13 17 3.7 52 29 3.11 37 41
N 11 12 13 14 15 16 17 18 19 20
ay 4 2 2 2 2 4 2 2 2 3
by 2 1 0 2 0 0 2 0
N 2 1 2 0 2 4 0o 2

4N+1 3%2.5 7% 53 3-19 61 5-13 3-23 73 7-11 3%

N 21 22 23 24 25 26 271 28 29 30
an 4 2 2 2 2 4 2 2 4 2
by 0 0 2 0 0 4 0 0

cN 4 2 0 2 2 0 2 2 2 1

4N +1 5-17 89 3-31 97 101 3-5-7 109 113 32-13 112
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0000004k+100000 (+)004k+300000 (-)000000000000000(+)00
(+)000000 (-)00 (-)0000 (4)00(+)00 (-)0000 (-)000000000004N+1
020000000000000000000 (+)00000000 (-)00000000000000 ay
00000006y 000000
DO04N+10000004N+1=]]\_,¢/ 0 (-)0000 ¢000000000004N+10000
d000000 (d,(4N+1)/d)0000000 d000 ;000000 (1),;(Sv,)00000000000
ODO00Y)._(ve); 000000d0 (+)0000000d0 (-)000000000000 (d,(4N+1)/d)00
(-1)Z5=1() 0 41000 ey 0000-1000 by 0000000000 000000000000000
DO00000000000000000000000000000000000 [[,_,(»;+1)0000000
0, 00000000000000000 000000000 ay—by=10000000 ay—by =0
0000
DO000004N+1=]15_p% T'1¢ (0 (+)0000¢ 0 (-)000000000000000
D00000(+)00000000000000000 ay0by0000000000 [} (4;+1)000
D0000000000000000000000»0000000000000ay —by =[15_;(4 +1)0
00000 ay—by=00000

0000000000000

00000000000 WikipediaOODOOOOOOOODOO?
000D MD2000000000m?+n20000000000000

r(M)=4 Y (-1 (1.5.4)
d|M,odd
do0o00ooooOooooo0 MOOODOOOOOOO4d00000
Od0400mOn000000000000O0O0ODOOOOOOOOOOOOOOmOnO000O0O0 O0OOO0O
0l1ogboobooboooboboooboobuoob 2000b0o0ob00-0=0000000DbDO0ODbDOO
gooobooobooboboboobomo

M=4N+1000000000000000000(-1)@-Y/20400000 (-)00000000000
000000 +1000000 -10000(+)00000000000000000000000 [T5_, (4 +1)
0000000000000 000000000000000000000004N+100000 (-)00
000000 », 0000000000 J]f,(,+1)0000000000000000000000000
0000000000000 cey=ay—by00000000000

2) S0 5,000
00 (14.3)0 S;0000000000000

n o0

EZlffn:§:¢*+(§jw1? (1.5.5)
n=1 n n=1

=1

[00)j0000¢00O0O0O0O0DOOO0OD ¢"O00O0OD0 enyO0OOO 100000 600002000
OO0 ceyO0O0O0OD0OOeny =by+cey0000000O0O00ODOOOOO

oo

i i(il)mflqn@mfl) _ Z [ Z (71)(M71)/2} 7~ (1.5.6)

N=1 M|N

4000 Hardy-Wright 00000 [4] O Theorem 278(p.314) 0000000000 m?2 +n?=(m+in)(m—in) 000000
goooooooooooooooobbo
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000000aey O (+)00000 MOOOOOO(-)00000 MOOOOOOO0O0O0O00000000
OON =2\, ¢}’ Tl'.,¢/0p; 0 (+)0000¢ 0 (-)000000000000000000000
D000y 000000000 ay=][;_;(+1) 00000000 ay=00000
by0OAODOOOOO »,, 000000000 10000000000000

ey 00000000000D000000000000 » 000000000 ay=[[5_;(+1)0000
0000 ay=00000000000000000 (155 0000x-,21000000000000000
000000000000 ADOOOOODODODOO000 1000000000000AD0O0OOOOO00O
000000000000000000000000000

00000000000 ayv=by+ey000000000000000

oooooooo sso

oo

1+4Z:1 14({;% (X q”2)2 (1.5.7)

n=-—oo

gbooboobooobgbbooboobaoobuooobooboan

3) S5+ 9000
00000 nO00000O0O0OOOO0O0d
(1.4.6)DDDDDDDDDDDDDDDDDDDDD

oo

Z (2n 4 1)gn+DEm+D) (Zq(2n+1) /4) . (1.5.8)

n=0,m=0

[0O0]0 (1.58) 0000 NONDDODOODDODO AyOODDO00O ByOOOODAyO NODOOOOO
o(N)ODDDOOO

By04ND 4000000000000000000000O0000DOO0O00O0DOOO0O0OOOO0O0OO
ooooo

N=10 A, =1004=124+12+124+120000 B, =1.

N=30 A3=1+3=40012=32+124+124+120000 B3 =,4C; =40

N=50 As;=1+5=60020=32+32+12+120000 B; =4C, =60

N=70 A;=1+7=80028=32+32+324+12=524+12+12+120000 By =4+4 =80
N=90 Ag=1+3+9=130036=32+32+32+32=52+324+124+120000 By =1+ 12 =130
N=110 A; =1+11=120044=5>+324+32+120000 By, = 120

N=130 A3=1+13=140052="7>4+12+124+12=52+32+32+32=52+52+124+120000
Bz =4+4+6 =140

byOO0OooobOoboooboboboobooon.
00000000000 WikipediaDODOOOOODDOOO?

500000 Hardy-Wright 00 [4] O Theorem 386(p.415) 00000000000 0000000000
n 1p2n—1 > 2\ 2
— n
1+4ZW—( dow )

n=-—oo

O00000O0O00 200000000000

goooooooooog
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’I”4(M) = 80’(4)(M)

ElDDD[I[II:II:IDDD0(4)(M)DD4DDDDDDDDDMDDDDDDDDDD

00ONDDOOOD oy(4N) =0c(2N)00000002NO00O0D0DOONDODODOOODODOOO
0200000000000000000(2N)=3c(N)D000O00O0OO00ODOO0O0OOOOOOOOOOOO
rs(4N)=24c(N)0D0ODO0O0O0U4NDO 400000 (O0ODO0)0DDOODOOOOOO400000000004
ocoooooooooboboooooobo0oo40000000DO0OO0OO0400000000DOOOODODODOO
0000000000000 000000000ry(N)=80)(N)=8(N)OOOOOOOOOD o000
0000000040000000000000000 2By00000000 240(N)=80(N)+16Bx 0
O00000000By=0(N)=Ay0000O0O

4) (1.4.9) 000
(14.9)0 200000¢00000000000000000000000000 10000

féE%?:%E‘T* [E:qm+>] P~+2§§q"12 (1.5.9)
n=1

n=1

ubooaooad

[00)0000000o0oooooo

) 1 n+2 1(
SR = 2 S yghnreny 0510
n—0 n=0m=0

0000000 Y% ,Anvg™/200000000N = (2n+1)(2m+1) (n 20, m=0)000000AN = o(N)
oooo
0000D0000D00D0O00000

oo

[fiq&?ﬁr[E:q“r. (1.5.11)

n—=——oo n—=—oo

B~ =

000 Y% Byg™?2000000002N = (201 +1)2+ (2n2+1)2+ (2n3)2 + (2n4)2 0000 20000
0000 2000000000000000000000000000O0D0000ODOOO0O00OOOOO00
004CBy = 1r4(2N)0000By0 4C,0000000(15.11)04000000000000000000
NOOOOOOO7r((2N) =804 (2N)=280(2N)=240(N) 0000000000000 By =0(N)=Ax
ooooog

1.6 0OOOO

(1.1.3)0 (1.4.70(1411) 000000000000 OOO0OCOOOUOOOOUOOOOOOOOOOO
0000o00(1.13) 0000000000000 o0ooooooon

oobooobobooooboobooboobooooboooboobboboboooD simshdboooogo
gboboobooobooooboobooooboooboooboooobooboooOobooboobooboboOoDbo
oobooooboooooooboooobobbboooobooooooboooobooooooooooooooon
goboooobooooobooboboooobobooooooooooooooboobooooOoobooDoOoo
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0000000000000O000 o020 000000000000000O0O0O00OOOOOO

000000000000
1
d
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o log|logz|

goooooobooogoboboobooooobooboooooboboboooDooooboobobboooDoDbobo
OoooooooooooooOobOoOoOoDO0ObOO0O0OOoooO0-0.1b447...000D0DODODODOOODOOOO
0000 3]0 pbrd00000000O0OOOO

oo —x
/ dr —— =0
0 log x
000000000000000000000%1000000000000000000000000000
oooo

oo

[l] 00000000 00000000000 II—C00o0000o00U0—moooon
2 000000000000 0000000I D000DmMUoOo19910[0o0oooo)
3] 000000000000 mOoOo19830[Dooooog]

[4] G. H. Hardy and E. M. Wright, An Introduction to the Theory of Numbers (Sixth Edition,
Oxford University Press, 2008)
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2.1.1 000

00000000000000000000000000D000000000000000 (Christopher
Clavius 15380 1612) O " Euclidis Elementorum libri XV " (1574) 0000000000 O O O Commentaria
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The Value of 7 in Ancient Babylonia
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The Value of 7 in Ancient Babylonia
(Appendix)
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